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Introduction

In the last CT4 meeting, Huawei’s contribution (C4-051135) discussed the question about playing announcement continuously. The requirement has been accepted, but the solution is postponed to discuss in this meeting.
The paper discusses the possible solution to solve the question.
Discussion
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Figure 1
As shown in figure 1, to keep playing announcement continuously during handover, the MGW must do two things: 1. The MGW duplicates the announcement to the two terminations during handover. 2. After the handover is finished, the process of playing announcement must be inherited. 
For example, the announcement is “How are you”. When the word ”are” has been played out in the termination T1, the handover occurs. Then the session stream is switched to termination T3, the word “you” will be played continuously with the same announcement property.
To solve the problem, three solutions are discussed.

1.  The first solution is to define the new“Handover” package. As shown in figure 1, when the handover occurs, the MGC uses a signal to indicate the MGW, and the MGW duplicate and take over the announcement channel in the termination T1 to another new termination T3. After the handover is finished, the termination T3 can play the announcement continuously.
2. The second solution is to add a fake termination in the MGW.  As shown in figure 2, the termination T4 is a fake termination.
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Figure 2

The fake termination is used as the anchor point when playing the announcement during handover, and it does’t occupy any physical resource.

 When playing the announcement, the MGC indicate the MGW to play the announcement in the termination T4 internal. When the handover occurs, the termination T4 doesn’t change, and the topology of the context is modified into “T4 T1 oneway” and “T4  T3 oneway”. The announcement will be continuous.

 To implement this method, a H.248 package may be defined. The package includes a property and a signal. The signal is used to indicate a termination as a fake termination, and the signal is used to indicate the MGW to duplicate the announcement in T1 and T3 during the handover.

Compare with the first method, the second method is more complicate. The package defined in the second method need a property and a signal, but the package defined in the first method only need a signal.
3. The third method is to add two contexts in one MGW for one session, especially when the callee and calling are in the same MGW. As show in the figure 3, in the beginning of session, the session has two context: ”Context1” and “Context2”. The “Context1” has two terminations: T1and T4.  The  “Context2” has two terminations: T2 and T5. The MGW combine the two contexts and the media stream is from T1 to T2 or from T2 to T1 directly.  The termination T4 and T5 is used to play the announcement.
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Figure 3

When playing announcement, the MGC indicates the MGW to play in the T4 internal. The other process is just like the second method.
Compare with the first method and the second method, the third method need more H.248 message, and need more media resource, such as context, termination. So it should not be recommended.
Proposed Solution
According to the above discussion, the first method is more reasonable. So the first solution may be introduced to 29.232 Rel-6 to solve the question. It is proposed to add a new UMTS package “handover package” to fulfil this requirement as a general solution.  
